
205-205-046C Page 1 of 2
Peerless



205-205-046C Page 2 of 2
Peerless

Ref #  Part Number Qty Description
36 790075 Brake Disk1
37 790007 Brake Pad Plate1
38 790006 Brake Pad (pkg of 2)2
39 786026 DOWEL PIN 5/16 X 3/42
40 792076A Flat Washer .312 ID x .059W1
41 790010 Brake Lever1

42A 792085 Screw 1/4-20 x 2.251
42 792177 Screw, 1/4-20 x 1.3751
43 792075 Locknut 5/16-241
44 790025 Brake Pad Holder1
45 786066 Spacer .2625 1.01
46 786086 Brake Lever Bracket1

71A 792162 Pushnut 9/16"1
71 788069 Square Cut Ring1
76 780001 Flat Washer .750 ID x .056W2
79 792144 Spring .430 OD  x .5000 L1

85A 792182 Tube Plug 3/81
85 792154 Oil Fill Plug1
87 788035A Oil Seal 5/8"1

180 730229A Gear Oil 80W90 (DIFFERENTIAL ONLY)1
189 792168 Drive Screw #6 x 1/2"3

189A 792171 Screw 10-24 x 1/2"3
190 792150 Lock Washer .443 ID x .109W2
191 792151 Nut 7/16-202

208A 798023 Fan/Coupling (Incl. 189 & 189A)1
209 798024 Control Lever1
900 794720 Replacement 205-046C Transaxle PRODUCT CONTAINS 

PATENTED FEATURES
1


